SYIT/SEM ITI/AM/
Time: 2% Hrs,

Note: (1) All questions are compulsory with Internal cholce.
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(2) Figures to the right Indicate full marks.
(3) Symbols have thelr usual meanings.
4) Use of sclentific calculator fx 82 serles and below Is only allowed.

Attempt any three of the followling. - (19)
Find the square root of —5 + 121,
Find the general value of Log(1 + {) -+ Log(1 = 1).

L (cos36+isin30)*(cos46-1sIn40)8
Using De Moivre's theorem, simplify (corOHIsTA0) (coss Ot Tsin30)F

Prove that cosh™'x = log(x + VxZ - 1).

Determine the value of A for which the equations 3x +2y+4z=3,x+y+z=4,
5x + 4y + 6z = 15 are consistent. Find also the corresponding solution.

IfA= [;’ 2], Find A™ in terms of 4.

Attempt any three of the following. (15)
Solve (xy — 2xy?)dx — (x3 — 3x2y)dy = 0

Solve (x2D? + 5xD +3)y = (1+ i)z logx

Solve %’:’ - 4% + 3y = (x%e*)?

Solve Z—i—’z' - 2%+ Yy = xe*sinx

Solve (%x + e*.logy)ydx + e*dy = 0

d
Solve dx—’,’+y= 0

Attempt any three of the following. (15)
Find L[cos®t)

. - -1 (1
Find L 1[zt:zn t (;)h]

. ¢~ “".sin2t.cos.
Find L[——=—""]
Find L[ foru. e™3Y, cos?2u du)

-1y 45+15

Find L [—-1652_25]
Find L™1

7

Attempt any three of the following. (15)
Evaluate [ [ ™ x2y dx dy

Change the order of integration [’ _fx‘//-’:l/_“(x2 +y?) dx dy

Find the volume bounded by y? = x, x = y and the planes z =0 and x + y +z = 1.

Evaluate [ x%yz dx dy dz throughout the volume bounded by the planes x = 0,y = 0,z = 0,
2424232 ° :

@ b < 2 rx p2X+2

Evaluate [, [ ;" % dx dy dz

Find the area between the parabola y = x - 6x + 3 and the line y = 2x = 9.

Attempt any three of the following. (15)
Prove [n+1 = nfn

2
Prove that f01\/1 ~x*dx =£E)—

a_.b 6m
Prove that [ ”lo;i dx = log (-:%:—)

State and Prove Duplication formula for Gamma function.
tan~*(X =tan~1(%
Show that [ < &)-tan"() logZ,  a>0,b>a

00 e=P%, sinocr _ -1 (%
Prove that [, ——dx = tan (E)
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